MustjOoe 39

I ? I % I 1 ? ? ? I %
= 2 3 3
\ ¥ i fim m
-

5
&
EI60 ©
A
EIG0 @
&
El160

=610
EIG0
EIG0

TTU EI45

= = E
DR OpaORaGOREHOp @O |EOREOREHOREODdORE@ORaAOR a0 a0 D [EOR|d OO0 @Q CpaOpac (OpdOp|ERORdOBEHNOBEOORdHOBEORdHNOEOORd OB E@GOREOBEORdOOBEODdOHOD|EDOR d0O00| 00D dc
 Aripind3-4 | © Aripind3.5_ | ~ Aripind3.:6 | Aripind 3-7 ~ Aripind 3-8 Aripind 3-9 Aripind 3-10- | - Aripind 3-11 -
- 2 =697 m 0 | =661m* 0 T 89 1m2 | T 713me T L T 697me | 2 73,Ime = | = 732 m?
72,9 M AN = - : S A I = 2 , o les
1@ @j - i - = @ = — — - — = N - = = 1@ L) B 1
S 4% E % | - O P O S L= = = = = = Q 0 O \3 4% 2 S
SIS ol o (< u i i gl oL - o
| — E_Ul% = S — — = - 0 = | —— —
| - - \ = B LT = O O L S L R =T o » =
oL @ @ .. = | ‘@ <> _ .o | | S
1% 1 I | Adpind32 | S Adpindz3 o0 =1 — 0 0 polg o o o SX - Arpind312  © ggg o
71 1573 > ] Q | p) | Q O Ol o [ [ — 1498 m? | Q o Aripind 3-13
3 M [ 1552 m 1498 m = OO W [N & 0 3 \ 149omt o \ >
= - — — \ ] \ / o OO () 0 [ I \ ] 1558 m=
\ nininln nininln - 0000 1 [ OO OO [ = sininln
‘ ‘ ° ° JLJJWW we | ‘ o2 n : (Y e O : TTU EI30 ‘ ch44 /J&JL ° ‘
B )/@ | %%% UL U U4 \ s | W > *\\ sz | | | | g._T:. é% QL”E - - N = | \ 1|[| \ﬂ = \ A %‘Ti,;f M > o - @ | | S /ﬁ 8$Z A | \ HpEpEEN
EI60 EIB0 | e e | I Koridor | EI60 ™= Koridor EI60 ] £160 Rordor
Koridor 7 l - T >§ 113 114 g< in 15
112 a5 j | — il A: 26,8 m? A: 62,2 m? F‘ | — A: 784 m?

ERENET ER=RN T RERERNET RN N NSRS ol |== LSRR VEELUVEEBEEN HE R HEENH =1 UVHBRPUVHERE UVEERHEIVYERH LV EE
" Aripind 3-15 | Aripind 3-16 | | Aripind 3-17 | [ Aripind 3-18 | | Aripind 3-19 V . Eﬁj Aripind 3-20! Aripind 3-_221 Aripind 3-222J " Aripind 3-23 | | Aripind 3-224 “Aripind 3-%5 E & iiiii | ‘” ] Aripind 3-26 ! Aripind 3-27' ! Aripind 3-28 | | Aripind 3-29 | |  Aripind 3-30 |
28,4 m? 27,6 M’ 27,6 M7 27,6 m?° 27,6 M’ < 7,000 276’ 24,0 m 30,4 m 28,9 m 27,6 m 263 m* +7,900 27,6 m’ 27,6 m’ 27,6 m’ 27,6 m’ 28,5 m’
o1 Hal o s Ha | o0 Hao ] o s Hae ) o1a Ha | g o | o o oo Il o Plao e o e Ha ] o e Ha ] ol e Pl e E o oa o o | oH ol o oia o4 oH1a
/AR s /A s /AR /AR s /4Ah A 7 iz | | 7 | 2 | V7 | X7 | .\ - J. .\ J. .\ — ] .\ 1 - 7 .\ ] .\ — ] .\ — ] .\ J. .\ — J.
—H——1 1 H H = = H H H H — = H H = H H—— 1 H A e H = == b B e e e H— 1 —
| T mw 0 ]



AutoCAD SHX Text
1

AutoCAD SHX Text
1


	Sheets and Views
	10 3. Korruse plaan


